
IŶƐƚĂůůĂƟŽŶ MĂŶƵĂů
ĨŽƌ WĂůůďŽǆ Gϯ

ǁǁǁ͘ŝĞƐͲƐǇŶĞƌŐǇ͘ĐŽŵ

DI
M

01
60

55
-E

N
_V

00
6



www.ies-synergy.com

Installation Manual DIM016055-EN

2

The information provided in this documentation contains general descriptions and/or technical characteristics 
of the performance of the products contained herein. This documentation is not intended as a substitute for 
and is not to be used for determining suitability or reliability of these products for specific user applications. It 
is the duty of any such user or integrator to perform the appropriate and complete risk analysis, evaluation and 
testing of the products with respect to the relevant specific application or use thereof. Neither IES Synergy nor 
any of its affiliates or subsidiaries shall be responsible or liable for misuse of the information contained herein. 
If you have any suggestions for improvements or amendments or have found errors in this publication, please 
notify us.

You agree not to reproduce, other than for your own personal, noncommercial use, all or part of this document 
on any medium whatsoever without permission of IES Synergy, given in writing. You also agree not to establish 
any hypertext links to this document or its content. IES Synergy does not grant any right or license for the per-
sonal and noncommercial use of the document or its content, except for a non-exclusive license to consult it on 
an “as is” basis, at your own risk. All other rights are reserved.

All pertinent state, regional, and local safety regulations must be observed when installing and using this prod-
uct. For reasons of safety and to help ensure compliance with documented system data, only the manufacturer 
should perform repairs to components.

When devices are used for applications with technical safety requirements, the relevant instructions must be 
followed.

Failure to use IES Synergy software or approved software with our hardware products may result in injury, 
harm, or improper operating results.

Failure to observe this information can result in injury or equipment damage.

© 2018 IES Synergy. All rights reserved.



www.ies-synergy.com

Installation Manual DIM016055-EN

24

Pedestal mounting

 I DANGER
HAZARD OF ELECTRIC SHOCK, EXPLOSION, OR ARC FLASH
• This equipment employs parts, such as switches and relays, that tend to produce arcs or 
sparks and therefore, when used in a garage, locate in a room or enclosure provided for the 
purpose or not less than 500mm above the floor.
Failure to follow these instructions will result in death or serious injury.

• Mounting location should not obstruct air intake and exhaust
• Hilti HST-3 M12 or HSA-3 M12 anchors (not supplied) are recommended for the fixation of the pedestal on 

the concrete slab.
• Fasteners (8 screws) for the pedestal mounting of the Wallbox bracket are delivered with the pedestal.
• Fasteners (3 nuts) for the mounting of the Wallbox on its bracket are delivered with the Wallbox.
• The Wallbox bracket needs to be removed from the back of the Wallbox in the first place.

Civil engineering for the pedestal
The pedestal must be installed on a raised concrete slab 100 to 150 mm off the road surface.
The base must support a weight of 264 kg (582 lbs) and exceed the base frame (536,6 x 321 mm [21.13" x 
12.64"]).
It is advisable to leave 1 m free space around the pedestal. This free space is mandatory for charging station's 
ventilation.

The figure below shows the implementation layout on the concrete slab of the pedestal.

 4x
  R

 10
 

 4x
  R

 30
 

4 
x 

 1
2 

TH
RU

 A
LL

 0
 

 6
8,

30
 

 1
68

,3
0 

±0
,3

0 

 3
68

,3
0 

±0
,3

0 

 4
68

,3
0 

±0
,3

0  

 5
36

,6
0 

 0 

 105 
 90 ±0,30 

 231 ±0,30 

 256 ±0,30 

 321 ±0,30 



www.ies-synergy.com

Installation Manual DIM016055-EN

25

1. Unscrew the bumper T30 fastening screws (x2) us-
ing a T30 socket - position ඹ

2. Untighten the bumper M6 fastening nuts (x2) us-
ing a 5 mm socket - position ය

3. Remove the bumper - position ර

ඹ

ඹ

ය ය

ර

Remove the bumper2

1. Untighten the right inclined part M6 fastening nuts 
(x2) using a 5 mm socket - position ඹ

ඹ

ඹ

Untighten the right inclined part nuts1



www.ies-synergy.com

Installation Manual DIM016055-EN

26

1. Unscrew the right inclined part T30 fastening 
screws (x3) using a T30 socket - position ඹ

2. Remove the right inclined part - position ය

ඹ

ය

ඹ

ඹ

Remove the right inclined part2

1. Fix the pedestal on the concrete slab using M12 
anchors (x4) - position ඹ

 G Recommended torque: TBD

ඹ

Install the pedestal3



www.ies-synergy.com

Installation Manual DIM016055-EN

27

1. Place the right inclined part back in position - po-
sition ඹ

2. Screw the right inclined part T30 fastening screws 
(x3) using a T30 socket - position ය

ය

ඹ

ය

ය

Reinstall the right inclined part4

1. Place the bumper back in position - position ඹ
2. Tighten the bumper M6 fastening nuts (x2) using a 

5 mm socket - position ය
3. Screw the bumper T30 fastening screws (x2) using 

a T30 socket - position ර

ර

ර

ය ය

ඹ

Reinstall the bumper5



www.ies-synergy.com

Installation Manual DIM016055-EN

28

1. Place the Wallbox bracket on the pedestal - posi-
tion ඹ

2. Screw the bracket to the pedestal with its fasten-
ing screws (x8) - position ය

ය

ඹ

Install Wallbox bracket7

1. Tighten the right inclined part M6 fastening nuts 
(x2) using a 5 mm socket - position ඹ

ඹ

ඹ

Tighten the right inclined part nuts6



www.ies-synergy.com

Installation Manual DIM016055-EN

29

1. Lift the charging station onto its mounting bracket. 
Note: Due to the charger weight, two people or lifting 
equipment are required to lift and handle the charging 
station.

Install Wallbox8

1. Tighten the nuts (3) on bracket’s studs - position 
ඹ

ඹ

Lock the Wallbox on its bracket9



www.ies-synergy.com

Installation Manual DIM016055-EN

30

1. Close the side panel
2. Tighten the screw (1) on side door - position ඹ

ඹ

Close the side door10



IES Synergy
615, Avenue de la Marjolaine
34130 Saint Aunès
France

Head office:
Tel : +33 (0)4 99 13 62 80
Fax : +33 (0)4 99 13 62 81

www.ies-synergy.com

DIM016055-EN_V006
October 2018

Printed on paper made with 100% post-consumer fiber and
100% certified renewable energy, and processed chlorine free.

As standards, specifications, and designs change from time to time, please ask 
for confirmation of the information given in this publication.


